
 
17.1 Homework

fexydxtydyuinitc.me r F dr FXM 47 27 Cyx2andy

X GSO Y Sino 0 EOE2T O IX El

J cosOs.nos.noDO Sinocosodo cX2dx t Xdy

f fcososinotsinocosodQ O Phil x2 QQ.it x2
Greene'sTheorem HD9 flydA Py O Q 2x

plx.nl xy Qlxill Y fofz2xdydx to
P x Q O

D Kil l l Exel Frey era F te t e
fif xdydx 0 a.IE A o.o B 12,2
Greene's Theoremworks f 421,0 12,0

2 o
AB y x 72 1

cy2dxtx'dy CT y x 2

Phil y2 Qxy x2 dx t eady

Py 2y Q 2x pay e t QXm e Y

11 Qx RdA fp2x 4 DA R e t Q e Y

fof 2x 4 lady o f exY e t d dy ldtl e

cx2ydx I felsinxt1 text 3 14dy
play x2y Quit O DT Y x16 Phil Smx14 QK.it

3xtyPyx2 Qx O AB y x Py l Q 3

II Qx ADA Xi 01 12 X Ey e x16

D axil l I exist Fx eye Fx 2dydx 34 Idk

fit did It



 
17.2 Homework
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